IlepeueHb OCHOBHBIX /ieTasieil ¥ y3/10B ra30HOKOCU/IKHM PYUYHO# 3/1eKTpuueckoi I'P3-1,7-02

YTBepxxjaro
o-10 Hauanbuuk OTO
Kosznos IT.A.
«__» 20T
VnxeHnep
SIxoBenkor U .K.




IlepeyeHb OCHOBHBIX jeTa/ied M y3/10B ra30HOKOCH/IKH PyYHOH /1eKTpuueckon I'P3-1,7-02

I1 HaumeHoBaHue K I1 HaumeHoBanne K I HaumeHoBaHue K
1 [Inyp ceteBoii ¢ Bunkoii (L-0,4 m) 1 43 Ban xectkuii 8x625mMm 1 75 Kopniyc neBblii pyKosITKU 1
2
2x0,75 MM 44 I[IItanra BepxHss B cbope 76 BunT camopes 3,5x14 6
2 Tpy6Ka 3aumrHas 2 44.1 BTYJIKa (TUIACTHK) 3
44.2 LITaHra BepxHss 26x650Mm 1 7 Pewet !
3 ITnacTrHa NpYsKUMHAs 3 78 BUHT camones dx 14 )
45 Bunt M5x20 S4 6 WHT camopes 2x
4 BuHT camopes 4x12 6 79 H 1
46 BTynka BepxHsis IUTaHTU 1 oK
5 Kongencarop 0,33 pF 250B 1 o
47 Bryika wrasru 1 80 Koxkyx 3aljUTHBIHA B cOope
6 Bnok nnaBHoro nycka XS-12/D3 1 80.1 (apTyK 3alUTHOrO KOXKyXxa 1
- 48 BTynka HWKHSS WITaHTU 1 80.2 KOXKYX 3alllUTHBIH 1
- 80.3 raiika M6 2
8 K N 1 49 [IITanra HwKHss B cbope
OPrIyC /IEBbIM 49.1 BTYJIKA (I/1aCTHK) 3 81 Bunr M6x16 S5 2
9 BsiokupoBKa BbIK/HOUaTe IS 1 49.2 (ukcarop 1 82 Bo6una B c6ope 3UTT
49.3 LITaHra HIWKHAA 26X730 MM 1 81 o 1
10 [Ipy>xuHa kpyuenus 1,5x12x6 1 49 4 KPOHLLITEHH KperieHust KoKyxa 1 . KOXKYX 3allUTHbIN
82.2 KaTylKa 1
11 Cxo6a 1| 495 Jakyienka L g2 waiita @39 2
12 IpysxwuHa 0,8x9x25 1 50 Ban xectkuit 8x750 MM 1 82.4 Npy’KnHa 2x38x58 1
82.5 Koprtyc 6061HBI 1
13 Knaeuiua BbIK/IHOUaTesIst 1 51 Penykrop B cGope
51.1 | KO/BLIO CTONOPHOE BHyTpeHHee 26 | 1 83 Hox 255x25,4x3T 3UI1T 1
14 Briksrouarens 16(12)A 250B 2 51.2 KO/IBLIO CTOMIOpHOE 10 1 -
84 Kirou mecturpannsiii S4 3UTT 1
15 PyKoSITKa J1eBast 1 51.3 nogumnHuk 6000 RS 2
51.4 Baj-lIecTepHs Z-15 1 85 Kittou miecturpanssiit S5 3UTT 1
16 BuHT camopes 4x14 11 51.5 KOpIIyC peAyKTopa 1 " X p p— .
JTF04 KOMOVHHUPOBaHHBIN
17 BunT camopes 3x16 51.6 noguumHuK 6000RS 1 p
- 51.7 1ecTepHs Z-20 1 87 KpOHLUTeHH KperieHust LUTaHT 1
18 Kopryc npaseiii 1 51.8 mnuHzens L-82,5 Mm 1 -
19 . 51.9 noammnHuK 6002 RS 1 88 Ilatiba &6 1
51.10 | KonbLIO CTONOPHOE BHyTpeHHee 32 | 1 89 PyuKa KpOHIITeiiHa 1
20 MeTka 7x11x17 2
52 Bunr M6x25 S5 1 90 Bunt M5x8 S4 1
21 BuHT camopes 3x8 2 =
53 [Taiiba 6 1 91 BuHT M6x24 S4 1
22 [eTkoAep>karenb (JIaTyHBb) 2 =
54 [Taii6a npy>xuHHas 6 1 92 [Iaii6a @6 1
23 Taiika M8 1
55 Bunr M5x11 54 1 93 [aii6a npy>xuHHas 6 1
24 Brynka &8 1 =
56 [aiiba 5 1
25 Kpribuarka 1 =
57 [Taii6a npy>xuHHas 5 1
26 dnaHel meTKoep>KaTesnen 1 N
58 BuHT cnetipansHbiil M6 1
27 Crarop B cbope -
271 cratop 1 59 ®drnaHel] NbUIe3alUTHBIN 1
27.2 TepMmornpezoxpaHuresnb 130A6 1 60 Bunt M5x10 S4 3
28 [Moammnuuk 608RS 1 61 I1laii6a 5 3
29 Slxops 1 62 [1Taii6a npy>xuHHast 5 3
30 Hopmmmank 6001-2RS 1 63 driaHel| BHyTpeHHUIA 1
31 ®jiaHer| ABUTaTesIst 1 64 dnaner| 1
32 BuHT camopes 5x55 2 65 dj1aHeL] BHELIHUM 1
33 Hopmmmxnk 607RS 1 66 Taiika M10 (n1eBast pe3n6a) 1
34 Kossrio croropHoe 10 1 67 Haknazka (nnacTHK) 1
35 Koneco sy6uaroe Z-24 1 68 OcHoBaHue NMPaBoii PyKOATKH 1
36 IIroxka cermeHTHas 3x3,7x9 1 69 B/IOKUpPOBKA BLIK/TIOUATE ISt 1
37 [muugens L-59 1 70 Tpy»wHa 0,7x7,5x25 1
38 Hopumnuuk 6000RS 1 71 Kopryc npaBbIii pyKosITKH 1
39 Kpeiitika pesiykropa 1 72 Tpy»xwuna 0,5x8x33 1
40 Bunt camopes 4x13 4 73 KraBwiiia BeIK/TIOUaTE IS 1
41 ®ukcarop (ckoba) 3 74 [Inyp ceresoii (L-0,8 m) 2x0,75 | 1
42 Brynka npusogHas L-51Mm 2 v




